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2C,Hg(g) + 7055 —>  4C0y(g) + 6H,0()
(O=16,H=1: g/mol)
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CaCO;(s) + 2HCl(g) ——— > CaCly(s) + HO() + COy(g)

1) CaCO4(s) ——» CaO(s) + CO,(g) AH= 175KJ
2) Ca(OH),(s) ———> CaO(s) + H,0(l) AH= 67KJ

3) Ca(OH),(s) + 2HCl(g) ——  CaCly(s) + 2H,0(l) AH=-198KJ
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MgCO,(s) +2HCI (aqg) —>MgCl,(ag)+H,0 (1) +CO,(g) Mg =24,H =1,C =12 g.mol *
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2C,Hg(g) + 705(g) — 4CO,y(g) + 6H,0(g)
(O=16,H=1: g/mol)
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AH(reaction) = | 2AH(C-C) + 12AH(C-H) + 7AH(O=0) | -

[ 8(800KJ) + 12(463KJ) ]
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2185 + (-246) = -2431KJ
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CaCO,(s) + 2HCI(g) —> CaCly(s) + H,0() + COyg) AH=7?
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1) CaCOj;(s) — > CaO(s) + CO,(g) AH=175KJ

2')Ca0(s) + H,0() — Ca(OH),(s) AH,' =-AH, = - 67KJ

3) Ca(OH),(s) + 2HCI(g) —> CaCly(s) + 2H,0()) AH= -198KJ

AH(reaction) = AH, + AH,’ + AH; = 175 -67 - 198 = - 90KJ

7.3g HCI 1mol HCI -90KJ
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